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QUESTION 1

B. Measure the nhumber of complaints raised by students

C. Combination of tailored surveys and IT tools-based metrics
D. Implement staff Super Users to provide feedback

Correct Answer: C

QUESTION 2

The Customer Success Manager notices that their customer has delayed going into production. Which action does the
Customer Success Manager consider?

A. Suggest that the customer replace their existing staff

B. Provide the customer with a chargeable deployment service
C. Re-enforce the time to value of the solution

D. Give the customer a discount on a future purchase

Correct Answer: C

QUESTION 3

What defines a use case?

A. comparison of the marketing description of what a product does and the customer\\'s experience.
B. list of actions that define the interactions between a role and a system to achieve a goal.

C. list of actions or event steps that a customer uses.

D. list of instructions customers use for their software.

Correct Answer: B

QUESTION 4

Customer A has 120.000 employees and a meeting booking system that is 20 years old. It provides a personalized
service that arranges all aspects of video conference meeting. This service includes 21 staff people globally. Customer
A has invested in a video conferencing solution. Their desired outcome is to create a cost-savings, self-serve approach
to achieve business innovation through face-to-face communications. Which two main barriers to adoption does the
customer face? (Choose two.)
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A. technical barrier
B. cultural barrier
C. product barrier
D. cost barrier

Correct Answer: AB

QUESTION 5

A customer\\'s call center unexpectedly moved from in-person to remote operations and discovered that agents could no
longer record their calls. The customer escalates this problem to their Customer Success Manager and requests a
resolution. The Customer Success Manager recognizes that the customer is using collaboration products with outdated
software. What is the first step of the mitigation plan?

A. Evaluate the availability of resources to work on the problem.

B. Engage a specialist to identity a technical solution or workaround.

C. Conduct an assessment of the business impact of the problem.

D. Establish a timeline of when a solution must be in place.

Correct Answer: A
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